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as ch moves 2 to 20 deg za

CornerDeflin= —6.823135 + 0.0/560 % zaCh
motion measured with the distomats
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dome pitch vs carriage house za (from tilt sensors)
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DomePitch= 9.77005 + 0.004260 = zaCh
Dome sitting at za=19.6 0z=362.87 (t12)

*

| 1 1 1 1 | |
5 10 15 20
Za of carriage house
Relative rotation angle vs ch za
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Angle from distomats _
AngleDist= —0.26125 + 0.002895 * zaCh
Angle from tiltsensor
AngleTilt="9.77005 + 0.004260 * zaCh
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Change focallength [in]
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dome Relative pntkrr vs za as ch moved 2 to 20 deg za
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Change dome focal length vs za as ch moved 2 to 20 deg za
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Focus error vs za. ch at stow and 138 deg za
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